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Date Interpretation Bar Graph Questions for SSC Exams. 

DI Bar Chart Quiz 10 

Directions: Study the graph carefully and answer the following questions. 
 

Given below a multiple bar diagram of the scores of four players in two innings. 

 
 

1. The average run of two innings of the player who scored highest in average is: 

A. 75   B. 70   C. 80   D. 85 
 

2. The average run in two innings of the player who has scored minimum at the second 

innings is: 

A. 60   B. 50    C. 40   D. 30    
 

3. The total scores in the first innings contributed by the four players is: 

A. 190   B. 200   C. 210   D. 220 
 

4. The average score in second innings contributed by the four players is:  

A. 30   B. 40   C. 50   D. 60 

 

 
Correct Answers: 

1 2 3 4 

B C C B 



 

 

 Explanations: 

1.  We can clearly see from the chart that it's MS Dhoni who made the highest score. 

And it's given that his score in the 1st and in the 2nd innings are 60 and 80 respectively. 

 

Therefore, the average score 

 

=  
80 + 60 

 = 70. 
2 

 

Hence, option B is correct. 

 
 

2.   We can clearly see from the chart that it's Cheteshwar Pujara who made the minimum score in the 2nd 

innings. 

 
And it's given that his score in the 1st and in the 2nd innings are 70 and 10 respectively 
 
Therefore, the average score 
 

=  
70 + 10 

 = 40. 
2 

 

Hence, option C is correct. 

 

 

3.  The first innings scores of all the players are given below, 
 
60, 50, 70, 30 
 
 ∴  Total score of the first innings = 60 + 50 + 70 + 30 = 210. 
 
Hence, option C is correct. 

 
 

4.  The 2nd innings score of all the players are given below. 
 
80, 50, 10, 20 
 

∴ The average score =  
80 + 50 + 10 + 20 

 =  
160 

 = 40. 
4 4 

 

Hence, option B is correct. 
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